Scenario 1
1) Your team plays with a 4-4-2 against your opponent 4-3-3 and having 3 midfielders against 2 in the middle is causing you problems. What kind of adjustment can you make to contain this situation?
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Scenario 2
2)Your Team plays a 4-3-3 and your opponent systematically is trying to get numbers up when in possession by having its full back 2 overlapping 7 in the attacking 3rd and creating a 2v1 against 3. A good solution would be to have your striker 11 coming back, but unfortunately your striker does not do it all and therefore this is creating problems. What adjustments can you make to remedy this situation? 
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Scenario 3
There are 10 minutes left in the game and your team goes up by a goal. However your opponent was having most of the possession of the ball and creating scoring opportunities, especially from crosses from wide areas to the middle of the penalty area where the opponent has players that are very good in the air. What can you do to contain the opposition and preserve the result.
You play a 4-4-2 vs the opponent 4-3-3
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Scenario 4
You play a 4-4-2 vs the opponent 3-4-3.When in possession the 2 wide strikers like to come inside and receive the ball  in the half spaces  behind the midfield 4 and attack the back 4.This is causing you a problem. What adjustments can you make to neutralize this situation.
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